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- Ismételjiink!

Melyik szamra gondoltam?

8 szazas + 4tizes + 9egyes =

3 szézas + 5tizes + 11 egyes =

2 szdzas + 9tizes + 13 egyes =

1 szézas + 10 tizes +. 15 egyes =

8 szazas + 15 tizes + 20 egyes =

10 szdzas + 9tizes + 10 egyes

I

12 szézas + 12 tizes + 12 egyes =

35 egyes + 3tizes 4+ 8 szazas =

16 egyes + 6tizes + 7 s/zézas':

26 egyes + Otizes + 3szdzas'= _

13tizes + 3 szdzas + 5egyes =

Il

19tizes + 4 szézas + 15 egyes

Il

60 tizes + 5 szazas + 43 egyes

60 egyes + 5 szazas + 43 tizes =

5 szézas + 60 tizes + 43 egyes

12tizes + 0szazas + 6egyes =

1ezres + 2szazas + 15tizes =

2 ezres + 10 szdzas + 3egyes =

5ezres + 8 széazas 4 25 egyes =

2 ezres + 6 szazas + 10tizes =

30tizes + 6 ezres =





